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QUESTION 1

In a Software-Defined Data Center (SDDC) that has a distributed firewall, where are the firewall policies enforced?
A. Guest operating system

B. Uplink ports

C. Virtual machine\\'s virtual interface

D. Host

Correct Answer: D

QUESTION 2

Which cloud environments are automated with the help of VMware NSX (Choose two)?
A. Intranet Cloud

B. Public Cloud

C. Private Cloud

D. Developer Cloud

E. Multi-Tenant Infrastructure

Correct Answer: DE

QUESTION 3

What are two functions of a DLR control VM (Choose two.)

A. Communicates with the NSX manager and sends routing updates to the NSX controller.
B. Performs Address Resolution Protocol (ARP) entry lookup.

C. Establishes routing protocol sessions with other routers.

D. Forms adjacencies with edge routing peers.

Correct Answer: AD

QUESTION 4
Which internet security protocol does NSX Edge use to interoperate with all major VPN vendors\\' equipment?

A.TLS
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B. TCP/IP
C. HTTPS
D. IPSec

Correct Answer: D

QUESTION 5

Which version of communication protocol is used in a virtualized network?
A.VTFP

B. Ipv2

C. IPv6

D. RIPv1

Correct Answer: A

QUESTION 6

What are three common problems for administrators when managing application with network security models that are
not virtualized? (Choose three.)

A. Lack of Interoperability and automation creates error-prone manual work.

B. Integration of third-party security products with home products is not possible.
C. Deploying and managing third-party security products become difficult.

D. Load balancing by vMotion is not possible.

E. There is limited visibility into a workload\\'s security posture and policies.

Correct Answer: ACE

QUESTION 7

What is the maximum number of instances that VMware NSX can extend for the networking and security of either within
or across data centers?

A. Nine
B. Eight
C. Seven

D. Five
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Correct Answer: D

QUESTION 8

What are the two core components that VMware NSX leverages for North-South traffic flow with an external network?
(Choose two.)

A. vSphere Standard switch

B. Edge Services Gateway (ESG)
C. vSphere Controller

D. DLR Control VM

Correct Answer: BD

QUESTION 9

Which of these allows static or dynamic grouping based on inclusion and exclusion of objects such as virtual machines,
VNICs, cSphere clusters, and logical switches?

A. uplink

B. Active Directory (AD)
C. Port

D. Security group

Correct Answer: D

QUESTION 10

Which technique best explains the use of the grained policies and network to enable security inside the data center?
A. Micro-division

B. Bifurcation

C. Dissection

D. Micro-segmentation

Correct Answer: D
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